Question No : 1 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

In original there was no provision of feedback concept and you can not go back to any previeus stage.

.

Answer | Please select your correct option )

r

WWaterfall model Correct answer solve by hadi
More detail: usmanraj20@gmail.com
0322-8043306

Spiral

Incremental

Made By: Wagdr Siddha




Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

15 the first stage of waterfall lfecycle model

.

Answer | Please select your correct option )

Requirement definition

(& Correct answer solve by hadi
More detail: usmanraj20@gmail.com
0322 8043306

Operation
[ 8]

Tt testing
L8]

Implementation
-

Weade By: Wager Siddhu




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The incremental model of software development is

.

Answer | Please select your correct option )

r

A reasenable approach when requirements are well defined

A good approach when a working core product is required quickly

Correct answer solve by hadi
More detail: usmanraj20@gmail.com
0322-8043306

The best approach to use for projects with large development teams and nsky prolkyjects

A revoluhonary model that 15 not used for commercial products

Made By: Wagdr Siddha




Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Which statement i3 correct?

.

Answer | Please select your correct option )

r

The greater the dependency between the components the greater is coupling

Correct answer solve by hadi
More detail: usmanraj20@gmail com
0322-8043306

The lesser the dependency between the components the greater is coupling

The greater the dependency between the components the lesser 15 coupling

Mone of the grven

Made By: Wagdr Siddha




Question No : 5 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

TWhich of the following fortmula is used to calculate the exposure for each risk 7

.

Answer | Please select your correct option )

RE = Probability of the nisk + Cost
I
RE = Probability of the risk x Cost Correct answer solve by hadi
C PAGE : 88 More detail: usmanraj20@gmail.com
0322-8043306
RE = Probability of the nsk ™ Cost
L8]
None of the given choices
(-. -
-
YWeade By: Wager Siddhu




Question No : 6 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

In a team 15 structured along a traditional hierarchy of authority

.

Answer | Please select your correct option )

Random paradigm
c

Cpen paradigm
C

Closed paradigm Correct answer solve by hadi
O More detail: usmanraj20@gmail.com

0322-3043306

Synchronous paradigm

r
Weade By: Wager Siddhu




Question No : 7 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

In

.

a team 18 structured loosely and depends on mdividual initiative of the team members.

Answer | Please select your correct option )

r

Synchronous paradigm
Cpen paradigm
Random paradigm Correct answer solve by hadi
More detail: usmanraj20@gmail.com
0322-8043306
Closed paradigm

Made By: Wagdr Siddha




Question No : & of 26 Marks: 1 (Budgeted Time 1 Min) (=]

An 15 & user identifiable group of logically related data or control information maintane d within the boundary of the application.

Answer | Please select your correct option )

Tnternal logical file (TLF) Correct answer solve by hadi
(8] More detail: usmanraj20@gmail.com
0322-3043306

External Interface file (EIF)

External input

External Query

Made By: Wagdr Siddha




Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The first published model of software development process was:

.

Answer | Please select your correct option )

Waterfall Model Correct answer solve by hadi

| 8! More detail: usmanraj?0@gmail.com
0322-8043306

Incremental Wodel
[ 8]

RAD Model
L8]

Spwral Model
-

Weade By: Wager Siddhu




Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

“Svnchronize and Stabilize Wodel” has been adopted by:

.

Answer | Please select your correct option )

Microsoft Correct answer solve by hadi

o More detail: usmanraj20@gmail.com
0322-8043306

IBM
[ 8]

Cracle Corporation
L8]

Sun Microsystemns
r

Weade By: Wager Siddhu




Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Project management i3 intensive activity

.

Answer | Please select your correct option )

People Correct answer solve by hadi
(& More detail: usmanraj20@gmail.com
0322-3043306
Product
C
Process
O
Resource
(-. -
Weade By: Wager Siddhu




Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

An 15 the smallest unit of activity that is meaningfil to the user(s) iz called

.

Answer | Please select your correct option )

Function point
I

Elementary process Correct answer solve by hadi
'a) More detail: usmanraj20@gmail.com

0322-8043306

Adjustment factor
L8]

Diata count
(-. -

-
YWeade By: Wager Siddhu




Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

TWhich of the following is one of the mechanisms to measure the size of the software?

.

Answer | Please select your correct option )

r

MNumber of Comments

Function points

Correct answer solve by hadi
More detail: usmanraj20@gmail.com
0322-83043306

Idean tune to falure

Error mdex walue

Made By: Wagdr Siddha




Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Software project management primarity deals with metrics related to:

.

Answer | Please select your correct option )

Development process
c
Defects
C
Availability
O
Productivity and quality Correct answer solve by hadi
O More detail: usmanraj20@gmail.com -
e Weade By: Wager Siddhu




Question No : 15 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

In context of mdvidual contrel charts, if a single metrics value lies outside TINPL, it means that process is:

.

Answer | Please select your correct option )

TAthin the control
r

Ot of the control Correct answer solve by hadi
L8 More detail: usmanraj20@gmail.com

0322-8043306

MNormalized
L8]

Mot normahzed
r

Weade By: Wager Siddhu




Question Mo : 16 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

distributes estimated effort across the planned project duration by allocating the effort to specific software engineering tasks

Answer | Please select your correct option )

r

Project tracking

Project compartmentalization

Project scheduling Correct answer solve by hadi
More detail: usmanraj20@gmail com
0321-8043306
Project Estunation

Made By: Wagdr Siddha




Question No : 17 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

In context of degree of igor, TSS stands for:

.

Answer | Please select your correct option )

Task set selector

s Correct answer solve by hadi
More detail: usmanraj20@gmail.com
0322-3043306

Tasks set in schedule
[ 8]

Tine set selector
L8]

Tine set m schedule
(-. -

-
YWeade By: Wager Siddhu




Question Mo : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

TWhen more than one users interpret the same requirement i different ways then we can say that the requirement is:

.

Answer | Please select your correct option )

Thatnbiguous
I

Incomplete
[ 8]

Incorrect
L8]
r Ambigiots Correct answer solve by hadi

= ey
R fhade By: Wagar Siddha




Question No : 19 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Degree of uncertainty that the product will meet its requirements and be fit for its intended uze 13

.

Answer | Please select your correct option )

Resource risk
I
Cost risk
C
Schedule nsk
O
Performance nsk Correct answer solve by hadi
O More detail: usmanraj20@gmail.com
S Wade By: Wagar Siddhu




Question No : 20 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Software project scheduling iz an activity that distributes estimated effort across the planned project duration by allocating the -------------- to specific software engineering tasks.

Answer | Please select your correct option )

r

Effort Correct answer solve by hadi
More detail: usmanraj20@gmail com
0322-8043306
Budget
Space
Resources

Made By: Wagdr Siddha




Question No : 21 of 26

Why we use software project planning activity?

Answer | Please click here to Add Answer )

Iarks: 2 (Budgeted Time 4 Min)
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Handouts Page No. 80

Weade By: Weager Siddhu




Question No : 22 of 26

Discuss the concerns of risk analysis and management?

Iarks: 2 (Budgeted Time 4 Min)

&

.

Answer | Please click here to Add Answer )
Ow & e s @ [E LR @) o]
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Handouts page no. 84

Wede By: Weagelr Siddhu




Question No : 23 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

.

How can we measure the guality of requirement specification document ?

Answer | Please click here to Add Answer )

e e e = e s e e ||
|Nurmal L”AHE| L||12 LI B 1 H::
£ recuirement specification FPage Mo, 71

document is measured in terms of lack of ambiguity, completeness, consistency,
correctness; understand ability, verifiability, achiewability, concision, traceability,
moditiability, precision, and reusability.

Wede By: Wagelr Siddhu




Question No : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

o

Do you think that macroscopic schedules are sufficient to schedule a project or they should be further refined up to lower level? Provide reasons for your answer,

Answer | Please click here to Add Answer )
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. Weade By: Wdger Siddhu




Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min) =]

Do you think that the use of statistical control techniques like the one given by Walter Shewart is valid (from accuracy point of view) in domain like software engineering? give your —
comments.

Answer | Please click here to Add Answer )

D= Ea@| s e o o [ |5 GG () o =]
Juiarmal A [l =z = e =

. Weade By: Wdager Siddhu




Question No : 26 of 26 Marks: 5 (Budgeted Time 10 Min) =]

Can we ensure 100% risk free software development process, i.e. can we guarantee that during the entire software development process there will he no occurrence of any risk. —
Comment with reasons.

Answer | Please click here to Add Answer )
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. Weade By: Wdager Siddhu






